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THREE YEAR BSCS (CBCS) DEGREE EXAMINATION, NOVEMBER 2017
FIFTH SEMESTER
Part II - Physics (With Maths)
Paper V— ELECTRICITY, MAGNETISM AND ELECTRONICS
Time : 8 Hours z : 5 . Max. Marks : 75
SECTION - A
WES -

- Answer ALL the following questions.

(808 R (I STV v,
(Marks : 5 x 10 marks = 50 marks) -

1. (a) State Gauss law and apply it to derive an expression for electric field intensity due to a
uniformly charged sphere. :

TR dTroTR) W87,R, BIV ©HFoSHED 28 KBS F'¥o Hg xS Y BRBH FIITHRVR
mm&gm.
Or

(b) Define electric displacement (D), Electric field intensity (E) and electric Polarization (P)
and derive the relation between D, E and P.
D85S %v:é@fd%:ﬁoo (D), 98255 B S8 (B) 965 15050800 (P) 00 DED0B0H0 58050
D, E 508010 P 0% 50655 Sowoqrg) oraegs. |

2. (a) Whatis hall effect? Derive an expression for hall coefficient and write its applications. v
IS SO0 IR HFE HIeEIVHKH SHTHHVR0 Te80. BD @RdTOR Frahod.
‘ or
(b) Define coefficient of self inductance and deduce an expression for the energy stored in
"~ magnetic field. :

Jgooo(ades KEaEHR0 REGD0D, @0HJ7;08 éLéOGSG é_go DOVIE VAT @w&gm.
3. (a) Explain LCR series resonance circuit. Why it is called an acceptor circuit?
LCR B3 @078 300550050 958080500, 839 ot ?)cgéq: 5005500 @08
Or

(b) Write the Maxwell’s equations in differential form and derive the Maxwell’'s wave
equation. . ' ' :
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" 10.

(a)

(b)

@

(b)

Explain Zener diode and explain its V-I characteristics.

S5 G e 9580508 $)8a1n V-1 ePoiroi 9:580908.

Or

Explain construction and working of basic logic gates OR, AND and NOT logic gates.

OR, AND 55800 NOT $8),5005770 d03ga50, 50305 D550 5808550

Explain P-n junction diode. Explain its V-I characteristics.

P-n 508 &Br&ER 9580%08. 8 V-1 epeserodn dH8od0&.

Or

Explain Half adder and full adder circuits.

oF $050D 2BA FYH0Led Sokred d580B0s.
SECTION - B
NES-D
’An'swer any THREE of the following questions.
DT Boredd ($Eo% SR a0

(Marks : 3 x 5 marks = 15 marks)

Derive an expression for electric field intensity due to an infinite conducting sheet of charge.

OB eBE T SeLH TH SIEeR) 45BTR0D S EB SSHL THSM TR,

Explain Biot-Savart’s law.

2087e5- 0 SRy 9560508,

Write about C-R circuit.

C-R So0sray (78 Erakso.

Explain p-n-p and n-p-n transistors.

p-n-p S08050 n-p-n lwg%&»ﬁo 9580%0&.

State and prove de Morgan’s theorems. -
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SECTION - C

’:oés -
Answer any TWO of the following questions.
DRI B0 (0L DATFRH0e FroR0.

(Marks : 2 x 5 marks = 10 marks)

‘Calculate the intensity of an electric field at a point 10 cm from a point charge of 2 coulomb.

| 2 Srenods eBE80 o Do) 000 10 cm B57506" DesogS &b SSBo B, 0855,

If the electric susceptibility of a substance is 35.4 x 10-12 C2. N-! m-2, find its dielectric
constant and permittivity. ‘

8 SEg D605 S0 35.4 x 1012 C2 N m? @0 & Io8 5% Jorossn 5830de

ESORR0B0.
A capacitance of 5 xF and an inductance of 0.2 H are connected in series. If the resistance of
the circuit is negligible, find the resonance frequency.
5 uF 3376080, 0.2 H [D8B3S° 502775, H005006° 9550050 &DE0INHE e D9850
The current gain of a common emitter configuration transistor is 98. Find the current gain in
common base configuration.
&l eq;awggs H90%00S° DS (ST 98 98 goo»é GOQE &8 S000oS” DS FIT
BNALY E0N 00,

Q .

Convert (25.375)10 into binary number and (11110.101)2 into decimal number.
(25.375)109 ©g0%50°9065°8 S08afn (11110.101); D S7°0% 309068 S3=8y800.
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